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. 200-69 =131
. 6x 7 =42
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(a) 7x2 =14
(b) 8x2 =16
(c) 2x9 =18

. (a) 60x(3/4) = 45

(b) 60x(3/4) = 45

7
7

. 20.00-2x5.50 = 9
. (34+26)/2 = 30
. D

. (2)35/5=
(b) 35/5 =
. (@37 (b)53()]

(@) 12x(3/4) = 9
(b) 12x(1 -3/4) =3

. 90-57 =33
. 2x9/6=3
. (2) 6+3+3 =12

(b) 6x3x3 = 54
20x3= 12

. 55%3 =165
. 2x30 = 60
. (2) 270/ (8+ 1)x8 = 240

(b) 270/(8+ 1) = 30

9

160+2 = 80

14243 +4+5+
6+7+8+9=45

45+3 =15

. (a) 54x4/(4+5) = 24
(b) 54x5/(4+5) = 30
. (2x43-72) = 14

. 6x(6/4) =
. 82+ 78 =160

15,9

16,8

2,6,7

or

2,4,9

3,4,8

3,5,7

. 21:3=7
9 + 5 = 14 (Gerald, older)

Ans = A

60 days

C13+13=31

. 24x2 = 48 days
. 28+4 =17 (cars)
. $15 = 60 quarters
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69.
70.
71.
72.
73.
74.
75.
76.

300x3 = $900

175+5 = 35 glasses
306+6 = 51 pies

2x4 = $8.00

59 - 17 + 20 = 62 parents
261 -165 =96

36+4 = 9 students

2 pencils + 1 eraser = 4.6
1 pencil + 2 erasers = 4.1
3 pencils + 3 erasers = 8.7
6 pencils + 6 erasers = $17.40
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77. 1:32 + 2:28 = 4:00 = 4 hours

4x15 = $60
78. 200 -27-30-21=122=§1.22
79. 58-4=54

54+6 = 9 balloons

80. 2+9+9+ 20 =40
6:30 + 0:40 = 6:70 = 7:10 A.M.
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